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1. Nissan Motors recently reported the following information:
o Net income = $600,000.
e Taxrate = 40%.
e Interest expense = $200,000.
o Total investor-supplied operating capital employed = $9 million.
e After-tax cost of capital = 10%.

What is the company’s EVA?

2. Please describe the strategies manager may use to maximize their firms value in the long run by
managing the “Price-Earnings ratio”.
(Hint: try to analysis the components of P/E ratio.)

3. Dobson Dairies has a capital structure that consists of 60 percent long-term debt and 40 percent
common stock. The company’s CFO has obtained the following information:
. The before-tax yield to maturity on the company’s bonds is 8 percent.
. The company’s common stock is expected to pay a $3.00 dividend at year end (D1 = $3.00), and
the dividend is expected to grow at a constant rate of 7 percent a year. The common stock
currently sells for $60 a share.

. Assume the firm will be able to use retained earnings to fund the equity portion of its capital
budget.
. The company’s tax rate is 40 percent.

What is the company’s weighted average cost of capital (WACC)?

4, An analyst is interested in using the Black-Scholes model to value call options on the stock of BBS
Inc. The analyst has accumulated the following information:

. The price of the stock is $40.

. The strike price is $40.

. The option matures in 3 months (t = 0.25).

. The standard deviation of the stock’s returns is 0.40 and the variance is 0.16.

. The risk-free rate is 12 percent.

Given this information, the analyst is then able to calculate some other necessary components of the
Black-Scholes model:

. d1=025.
. d2 =0.05.

. N(d1) = 0.5987.
. N(d2) =0.5199.

N(d1) and N(d2) represent areas under a standard normal distribution function. Using the
Black-Scholes model, what is the value of the call option?
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1. What would be the effect on real GDP and total employment of each of the following changes?
a.  As aresult of restrictions on imports into the United States, net exports (NX)increase.
b. The federal government launches a new program to improve highways, bridges, and airports.
c. Banks are offering such high interest rates that consumers decide to save a larger proportion of
their incomes.
d. The growth of Internet retailing leads business firms to purchase more computer hardware and
software.

2. Housing prices in Boston and Los Angeles have been on a roller-coaster ride. Illustrate each of the
following situations with supply and demand curves;
a. Inboth cities, an increase in income combined with expectations of a strong market shifted
demand and caused prices o rise rapidly during the mid-to late 1980s.

b. By 1990, the construction industry boomed as more developers started new residential

projects. Those new projects expanded the supply of housing just as demand was shifting as a
result of falling incomes and expectations during the 1990-1991 recession.

3. QQS is a competitive firm operating under the following conditions: Price of output is $5, the
profit-maximizing level of output is 20,000 units of output, and a total cost (full economic cost) of
producing 20,000 units is $120,000. The firm’s only fixed factor of production is a $300,000 stock
of capital (a building). If the interest rate available on comparable risks is 10 percent, should this
firm shut down immediately in the short run? Explain your answer.

4. Explain the difference between a single-price monopoly and a price-discriminating monopoly.
What conditions must be present in order for a monopoly to price discriminate? Explain why each
condition is necessary.
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